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Question Number : 1 Question Id : 8135611121 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

dy=

f sin(2x)
J sin®(x) + 2 cos?(x)

Options:

. % logll+ cos®(x)| + ¢

, x —logll+ sin®(x)| + ¢

5 % log |1 + tan®(x)| + ¢

N 3
- log |1 + cos“(x)| + ¢
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Question Number : 2 Question Id : 8135611122 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Choose the correct option regarding the following definite integrals

$08 & VATSVRHOVRD B VOGLHE dotids ol

2
1
A. fsin'"(x) cos(x) dx =
m+1
0

1

: n dx =
sin(x) cos"(x) dx e

B.

D'-.____“NI:

Options:
A 1s true. B 1s false
A dzd, B eseacq:g;’::o

A 1s false. B is true
- B @mgm, B Q280

Both A and B are false
A 200030 B e Godly eﬂwg’w

Both A and B are true

4 A 2000 B e ot daren

Question Number : 3 Question Id : 8135611123 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A deternunant 1s chosen at random from the set of all determinants of order 2 with elements 0
or 1 only. The probabulity that the determinant chosen 1s non-zero 1s

0,1 Sorosod Doy 2 X 2 3618 o Ardsw TEsL DDA o) w8 Agos)
QotSot) &3 :)gdso QLA ArR[B60 SIS 0P8 dod?

Options:
4

1.% 8

3
2. 8

Question Number : 4 Question Id : 8135611124 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the circle x% + y% 4 6x — 2y + k = 0 bisects the circumference of the circle x* + y* +
2x — 6y — 15 = 0. then ‘k’ 15 equal to

x2 4y 4 6x -2y +k =0 3380, 1% + y* + 2x — 6y — 15 = 0 3y HBA
ERVAICIT Y @), k=

Options:

; w2l

2. 8 ~41
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A

4. 23

Question Number : 5 Question Id : 8135611125 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bag contains books numbered 1 to 20. Three books are drawn from the bag with
replacement. The probability that largest number on the book is 7.

28 006" 1 K000 20 S5 BRI (0 20 YRS'L &) 0. I &od 3
RSV SO (AN YRTR) D6V WoS” GotiIdr) B YRS Iy
ﬁﬁfg "’ma&s 7 90335 QLD mu@“bﬁé

Options:
2
w 17

-

Question Number : 6 Question Id : 8135611126 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the tangent from (6, 8) to the circle x? + y2 = 4 1s

x2 +yf =4 3508 (6,8) Dotk Do (10 V63 TEY

Options:

Question Number : 7 Question Id : 8135611127 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: 5—1
If sin(2x) =

n 3
then x = e + (=1)"(m), n € Z. find m.

_ V5—-1 - —_—
sin(2x) = IO, X =%n +(—1D"(m), n € Z ®o0d. m =
Options:
T

. x 10
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T
20

-
4. % 40

Question Number : 8 Question Id : 8135611128 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the hyperbola with focus (1, 2). e = v3 and directrix 2x + y = 1 is given by

(1,2) Dot 29 D, e =13 &8) 08 0ok 2x +y = 1 oSBT (1L VST VD

ANEGAD

Options:

1 ¢ 2y?2 —12xy —7x* +2x — 14y +22 =10

5 x 2y° +12xy+7x* —2x + 14y —22=0

2 % 2y2 —12xy —7x%* —2x — 14y —22 =0

% 2v2 +12xy + 7x2 +2x + 14y +22 =0

Question Number : 9 Question Id : 8135611129 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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P i £ | 1 -
If displacement s = 5 sin(2t), then the velocity at the end of = seconds 1s

F%030. 5 = 5sin(2t) Lana, %:asmv SETS DA

Options:
5

1%

AP EAMCET 2020

Question Number : 10 Question Id : 8135611130 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The derivative of y = Sin™* (

v1+x—y1—x

y = Sin™? (

Options:
1

V14x?2

1. %

1

5> x Vi—x?

. 2V 142

¢1+x—d1—x),
1S

2

) cﬁnsb £9:98022:508) SAA AW
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v 2V1—x?2

Question Number : 11 Question Id : 8135611131 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

, . . . : . , 1\
What is the constant term in the binomial expansion of (1 + 3x)" (1 + E) ?

n
(1 + 3x)" (1 + i) BUDOG DRBHS" DO DEW
3x - @

Options:

(Zn)
n
1. ¢

No such term exists

0 DEAD Sokd
4. % @

Question Number : 12 Question Id : 8135611132 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the length of the tangent from (f, g) to the circle x® + y* = 6 be twice the length of the tangent
from the same point to the circle x + y% 4 3x + 3y = 0. then f2 + g> + 4f + 49 + 2 is equal to

(f, g) Dot ol x +y? = 6 Hy5°08 o 6\ TEY), 08 Dot Aok 1% + v +
3143y =0 g8 o 2y6\3w Ty 8o, Lo, f2+ g2 +4f +4g+2=

Options:

1w 1

Question Number : 13 Question Id : 8135611133 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. d’y
If v = log (cosh x) then o
d?y
y = log (cosh x) e200. 35

Options:

,  sech?x
> % —sech? x
3 % Sinhx
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4 » —sinhx

Question Number : 14 Question Id : 8135611134 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let f: R = R be a continuous function such that for any two real numbers x and .
If(x) = f(y)] <10 |x — y|?** then
f:R = R  0dd\) dahdn [f(x) - F(r)] < 10 [x — y[*** o0 dabawawso f
SR 1A Bocd X ABAL ¥ TR VoD B DY, VYK
Options:

£(2019) = £(2020) + 1

1. %
, » [(2019) + f(2022) = 2f(2021)

g i f(2019) = f(2020) + 8

4 % f(2019) = f(2020) + 2

Question Number : 15 Question Id : 8135611135 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The largest value of k for which the circle x% + y? = k? lies completely in the interior

of the parabola y* = 4x + 16 is

V% = 4x + 16 D000 Woddariod” X2 4y = k% s 08 GolttrT
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Options:

1% 43
2. v 2V3

3 % 2 \flg

4 % 46

AP EAMCET 2020

Question Number : 16 Question Id : 8135611136 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the value of

X € (o,g) 5°9 9 1 Dende

Options:

2 tan(x)

1-tan?(x)

2 tan(x)

CiE - = T
to be positive, find values of x. such that x € (O.E)

1-tan?(x)
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Question Number : 17 Question Id : 8135611137 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When six coins are tossed simultaneously. the probability of getting at least 4 heads 1s

DETVANE’ 6 TEOR JIEIVTED. P S0 4 TEVP &) DE 0D VogrS(D
Options:

11
1. 8 64

15
2. % 64

i}

3.« 32

Question Number : 18 Question Id : 8135611138 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Theten'sdigitn 1!+ 4! + 7!+ 10! + 12! + 13! + 15! + 16! + 17! 1s divisible by
L +404 704 1014+ 1214+ 1314 15! 4 16! + 17! dwgaans” 560w F38w6" S0y
‘rbnaa5m 2rPHotd) '5303-35

Options:

|
i
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Question Number : 19 Question Id : 8135611139 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . t .+ the £ £ a&x . @ (x)
Xpress — = —— 1n the form of — = —
: dx (x + te_z"‘“) dt t

dx_
dt

dt t

0 ("‘?) 89085 Tras0l.

Options:

Question Number : 20 Question Id : 8135611140 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Cube roots of unity are the vertices of a/an , Which 15 inscribed in a circle of unit

radius, with its center at origin

S0r0dotyd) Sogaw Sdatw “1” wﬁ&gm; (0 SyB508° BoddDotte @ SERY)
3T D$So(1) AW, 1M Mareden?
Options:

Right angled triangle
| % ©oEt GZRAW

Equilateral triangle
> LTI BT

Scalene triangle
3 % QLTI BZV20

Isosceles triangle

4 % PRAETTV GzRIN

Question Number : 21 Question Id : 8135611141 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If M 1s a point on the line y = x and ponts P(0,1). Q(2,0) are such that PM + QM 1s
minimum, the coordinates of M are

y =020 M 28 Dodo. P(0,1). Q(2,0) DoBopg PM + QM esd 380 itk
Got). M ddrosey

Options:

1. ® (010)
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(13 13)

> % \17"17
)

3% \7 "7

(31 31)
4. \7" 7

Question Number : 22 Question Id : 8135611142 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 0 1s any pomt 0A 4+ 0B + 0C + 0D = YOE . then find x. given that ABCD 15
quadrilateral. E 1s the point of intersection of the line joining the mid-points of opposite sides.

ABCD ammgamﬁ Deth 2085000 6§ DoV £95 Ben oot Vot

Do) E o0, Lok 0 Dga’ 28 Dot 04+ 0B+ 0C + 0D = xOF e&and. x =
Options:

1.v 4

2, % 3

Question Number : 23 Question Id : 8135611143 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
cos(x +a+b) sin(x+a+b) 10

If f(x) = |cos(x+b+c) sin(x+b+c) 10[then (£(2019)" %% - f£(2020)/**" =
cos(x +c+a) sin(x+c+a) 10

cos(x+a+b) sin(x+a+b) 10 _
f(x) = |cos(x+b+¢) sin(x+b+c) 10]eows, (£(2019)" @2 — £(2020)/ ) =
cos(x+c+a) sin(x+c+a) 10

Options:
1

1. %
2.5@_1

3. 0

Question Number : 24 Question Id : 8135611144 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angles A, B, C of a triangle ABC are in AP. If AB = 6,BC = 7 then AC =

A,B,C w0 ABC @z025006"d Stren 280k 0 wosdded’wd\d. AB = 6,
BC = 7 ©00&, AC =

Options:

w‘%

1, %

5 % Va1l
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3w V43

Question Number : 25 Question Id : 8135611145 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 12C2k_1 = lzCkH . then find &

12 R - - e
Copq = Cpyq OOk =

Options:

Question Number : 26 Question Id : 8135611146 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: xn—3" s S s
If lim ( 5 ) = 108 and n € N then the value of ‘n’ 1s

n oN
lim (II_S ) = 108 08a3w n € N 900, n =

Options:
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Question Number : 27 Question Id : 8135611147 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of any circle touching the lines 3x —4y+5=0, 6x—-8y—-9=01s

3x 4y +5 =0, 63 — 8y — 9 = 0 G0 dyydoid DA 38 TAgw

Options:

Question Number : 28 Question Id : 8135611148 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

.~ dy .
If log\/x2+ y?2 =Tan™"! (%) . then a}' is equal to

dy

log/x2 + y2 = Tan™! (i) QNN — =

Options:
Y=

R4 e

x+y
. X—Y

4% XY

}?

dx

Question Number : 29 Question Id : 8135611149 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

LetA =

Options:

1. %

and D =

-

. The system AX = D has

L AX = D &8 208 (DD

AP EAMCET 2020
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No solution

DGSD T

A unique solution

, o D3 F6d

More than one but finite solutions
. 258 S0 DL D 57 DO DS

Infinitely many solutions

4 Do JCdden

Question Number : 30 Question Id : 8135611150 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

V26 corrected up to three decimal places?

-~

What 1s the value of

V26 o), e2rano) Dend, 2P STV DBSBD)

Options:
1 % 2.998

5 % 2.844
3 v 2.962

4 % 2.823
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Question Number : 31 Question Id : 8135611151 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
(@nzZ)" =7
Options:

1 % 108242316

, » 108423216
5 » 102843216

4 » 108243216

Question Number : 32 Question Id : 8135611152 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

m/3

1
— dx =
1+ +/cotx
/6

Options:
i

1.\_/12
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Question Number : 33 Question Id : 8135611153 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AB 1s a line segment moving between the axes such that ‘A’ lies on x-axis and ‘B’ lies on y-
axis. If P 1s a point on AB such that PA = b and PB = a. then the equation of locus of P 1s

- 045009 ‘A’ Dothad) DBAK V- LD ‘B’ Dotidid) GotoderT AB Bar otk
$9ot0ei2d) 8. PA = b S8 PB = a ocb®rt Saraodanp P Do) 63, P
Do) DL

Options:

e el
3 x 2a®  2b°
o
w 2b2 2
4. % "

Question Number : 34 Question Id : 8135611154 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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(1 n 4%?)5/? 4

lim ==
x—0 x

Options:

Question Number : 35 Question Id : 8135611155 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @, B, y are the roots of the equation 3x3 — 9x?% + 5x — 7. then what is
the valueof a + f + y ?

3x3 —9x2 4+ 5x —7 D @, f,y e dareren wond. a+f +y =

Options:
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Question Number : 36 Question Id : 8135611156 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let it and ¥ be two vectors in R2. If [t + v |* = 2(Ju|*> + |V ]?) . then

R* & i,7 e 8ot 2% |t + 7| = 2(|T |* + |7]%) ewans,

Options:

LU=V

u and U need not be same but they have same direction

5> % U,V AIATFIIL 5P 5° 28 BF VI

i and v need not be same but they have the opposite direction
U, T 20 RATHANL B°)) SR ) ;55663_3 &% HOHBW

Question Number : 37 Question Id : 8135611157 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The quadrilateral formed by the pairs of lme xy + x+y+1=0, xy+3x+3y+9=01s

Xy +x+y+1= 0208080 vy +3x +3y +9 = 0 G208 d6y& o adw

Options:

1. %
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Parallelogram
R 0SS LBOEIN 220

Rhombus

a0’ ::')e‘.bdoaaan
2. % -

Rectangle
3 % 555] Al SleraPeby)

Square

4 o SBOCRI

Question Number : 38 Question Id : 8135611158 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation |/ (x — 2)2 + y2 +/(x + 2)2 + y? = 4, where -2 < x < 2. represents a

~2 < x < 20008 /(x —2)2+y2 +/(x +2)2 + 2 = 4 2S00 APoid g0
w5

Options:
Circle

| s BB

Pair of lines
: 63!3‘013)6&:.1)3
v

Parabola
3 % PTDVOIEAD
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Line segment

, 0ot

Question Number : 39 Question Id : 8135611159 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of pair of straight lines parallel to x-axis and touching the circle
4+ yi—6x—4y—12=01is

TR e 1P+ —6x — 4y — 12 = 0 x- 0FIS DAFSEAVT &ol

SR ] LB

Options:

.'2_ - —
v D 4y —21 =0

« V:+4y—-21=0
3. % y2—4y +21=0

n y244y421=0

Question Number : 40 Question Id : 8135611160 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If 5tanx - - : I l )
j(tanx)—z x = ax + flog|sinx —2cosx|+y.then a—f =

Stanx
_[(tanx)—z dx = ax + Bloglsinx —2cosx| +y Q0. a —f =

Options:

1.¢ —1

5 3

4. %

Question Number : 41 Question Id : 8135611161 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

(@-c)x(b-a) _

(b-a')(c-a)

If a,b and ¢ are position vectors of the vertices of AABC. then

—

@,b,C e ABC §50a3086') 4, B, C 363w0 F3068e sand. —=— =

Options:
1 % cotC

R 4 tan A
3 % tanC

4 % —tan4
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Question Number : 42 Question Id : 8135611162 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

x+1 A B | ;
If Zr—1D(G2rD) e — + o then 164 + 9B 1s equal to

x+1 A i B
(2x—1)(3x+1) 2x—1 3x+1

900, 164 + 9B Dend Doch?

Options:

Question Number : 43 Question Id : 8135611163 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the roots of x3 — px? + qx —r = 0 are in A.P. then

= px® 4 qx =7 = 0 dg), Aredne Bosdhe” Gd)Lad, B

Options:

i 2p® —9pq +27r =0

) % 2p® +9pq —27r =0
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L x 2P —8pq+27r =0

n 2p® —9pq + 28r =0

Question Number : 44 Question Id : 8135611164 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function f(x) = sinx — cosx is

f(x) =sinx — cosx DAL 28

Options:
Odd tunction

| x 6% HBooB

Even function
. B S¥eblovbiebl

Neither even nor odd function

3 o B0 DI0ADAD TTE. DB HCDLAW ST

f(x) 1s not a function

4% f(x) R0ado 570

Question Number : 45 Question Id : 8135611165 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The eccentricity of the ellipse 4x% + 25y% = 100 is

4x? +25y° = 100 BG0y5"J8 &B) 06d?

Options:

—

V21

o
\N
3y

Question Number : 46 Question Id : 8135611166 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

W ¢ T . m ‘
The mimimum and maximum values of cos (1 + 5) + 2y/2sin (x + ;) are respectively

o (x + g) + 242 sin (x " %) G208, E2% BALD (B Dewden ST

Options:
. x—(2v3-1) & 2/3-1

, u —(1+24/2) & 134242

B.J_3&3
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Question Number : 47 Question Id : 8135611167 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

4x -5, x =2 .. .2
then the value of k™ if lim f(x) may exist is equal to
o k, X > 2 ¥—=2

Hfﬁ)=[

4y -5 x £

2 , :
¥k 5 QOGS0 Poohaw lim f(x) S{RB

x—2

2000w f,R » f(x) = [
ond, k=7
Options:

1.¢_l

2, % —2

Question Number : 48 Question Id : 8135611168 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A regular polygon has 170 diagonals. Then the measure of interior angle of the polygon 1s

28 83 RS 170 SORVEY 6R) ). O WITVZOR 0903065 2300 e

Options:
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Question Number : 49 Question Id : 8135611169 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a parallelogram ABCD. if L and M are nudpoints of BC and CD then AL + AM =

ABCD 37reddd émmaaan. BC o308, Mﬁeﬁnﬁ)@ L 0803w €D 0308, ;.‘ncééaﬂnt;&::.‘:))

—_—

M e, AL + AM =

Options:

— AL
1.% 3

—_—

3
=
2.« 2

3. ¥

5 —
— AT
2
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Question Number : 50 Question Id : 8135611170 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The probability of a non-leap year having 53 Mondays 1s

B2-100800 5% 08y63w8" 53 FT 62000 GoktrdS o Vorryd

Options:
2

7

Question Number : 51 Question Id : 8135611171 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

%, {(1+x%) Tan 1 (x)} =
dx

Options:

. Tan *(x)
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A =1
5 2Tan “(x)

- 2x Tan *(x) 4+ 1

4 %% Tan *(x) + 1

Question Number : 52 Question Id : 8135611172 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the curve passing through (1, 2) and whose tangent at any point (x, y) makes

an angle Tan™(2x + 3y) with the x-axis is

(1,2) Dothdsd) oot ol S50a B Dot (x,) S AR AL r-e98308
Bobo Seacon Tan2(2x + 3y) a0, &8 38 HVLGHAD

Options:

’ . - 3x—3
P 6x +9y+2=26e

I

5 % 6x+9y—2

_6x+9y+2 =26
3. %

6x +9y—2 =26e™"°

4. %

Question Number : 53 Question Id : 8135611173 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If pXqg=pXT7Tand p.q = p. T, then

PXT =DXT 00050 D.§ = p. T 000,

Options:

| ®« P=T
K lais
3.2 P=4
4.4 TG

Question Number : 54 Question Id : 8135611174 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
K -wa B - PR S

(cos— +1 sm—) X (cos—+ l sm—) X (cos—+ I sm—) X ernana e 00 =
2 2 4 4 8 8

Options:
1.% 1

Question Number : 55 Question Id : 8135611175 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines v = 3x + 1 and 2y = x + 3 are equally inclined to the line y = mx + 4. then the
value of ‘m’ 1s equal to

y = my+420¢008 y = 3x + 1 280w 2y = 1 + 3 Garew 2D A8 $9A &old
‘m’ e =

Options:

1+ 32
1. % 7

Question Number : 56 Question Id : 8135611176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the coordinates of M in the original system if the point M changes to (4, —3) when the
axes are rotated through an angle of 135°,

28 Dot M o0 135° Zdoeo S A6yE Ardd opv )l (4,-3) m Srdod.

SRV B %9“5 M dErdse

Options:

1. %
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Question Number : 57 Question Id : 8135611177 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

51
Find the conjugate of ——
7 +1
51
o 03:056 “«00011)!’1&;‘»3
7+1
Options:
1
— (1 — 7i)
1.v 10
1
—(7i — 1)
2.% Y
1 .
5 0 (1+7i)
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Bl )
.. = (1-7)

Question Number : 58 Question Id : 8135611178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

2—25

s

= 5 then |z| =

z—25

Zz—1

= 5 o0, |z| =

Options:

v 2

Question Number : 59 Question Id : 8135611179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the equation of normal to the curve y = x® — 3, which is parallel to the line 2x + 18y =97

21 + 18y = 9 3% 20800 Go& ¥ = 1° — 31 HEAND (10 eDw0ed DEGEA

Options:

1. %
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X+ 9y = 20 only
X + 9y = 20 orgiaD

x + 9y = 40 only

, x X+ 9y = 40 g

: ?=+
. x+9y=+20

w X+9v =140
4. % ke

Question Number : 60 Question Id : 8135611180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the angle between the diagonals of parallelogram PQRS if PQ =37 — 27 + 2k

andPS =7 -2k

PQ=31-2] +2k, PS =1 -2k ©a0d PQRS 0rod0 S0t zs08’ 70
2068 STy S8 ol

Options:

Only cos 6 = — F
10

cos @ :—\Emgm
.Y

3

Both cos@ = +
10

cosf = iﬁ Einc.‘..)ml
5 % 10
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3

tanf = — |—

| 10
3. -

11

tanf = — |—

| 10
4, %

Question Number : 61 Question Id : 8135611181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The foot of perpendicular from (5,7, 3) to the join of (9,13, 15) and (12,21, 10) 1s

(9,13,15) Dot (12,21, 10) Dochaedsd Sewdrr 35y dap (5,7,3) Aotd AR wowsaresitn

Options:
1 % (-2,—-19, 7)

, « (B 49.7)

1 o E9 134954

Question Number : 62 Question Id : 8135611182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 . : e g
If secf +tanf = = then in which quadrant does & lie in?

2
secO +tanf =— 00D, 6 58390 Sol JGAD

3
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Options:
I

i 22

II

3 x I

e

Question Number : 63 Question Id : 8135611183 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the sum of the distances of a point from two perpendicular lines in a plane 1s 1. then its locus 15

8 DoY) Aot Tocd BT (V) EPCAV DSaL 1 0] DDA BAS VArIAN?

Options:

Two mntersecting lines

1 % 006 00080

Square

5 @ DB6AD

A Straight Line

Circle
4. % o)y E3ad)
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Question Number : 64 Question Id : 8135611184 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
J g* CONCx s eoseck  (1.—xcotx)x =

Options:

i 88 E,_::e'ca:ut::r_l_{,

X CoseCXx
+

e C

2.9

=X Ccosecx
+

3.% € b

4% E,-:tmtx_}_c

Question Number : 65 Question Id : 8135611185 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let 4 be a square matrix of order 3. Choose the correct option regarding the following statements:

1) There exists a matrix B of order 3 such that AB = I
2) There exists a matrix C of order 3 such that CA = I
3) Ai1s mvertible

A w83 % 33708 & S0 DItsda H83Dotsel.
1) AB = I3 ab{ttnm B o) Srds 6otdd) &
2) CA=1 esojase.)g.anrr C o) rds Gotnd) &
3) ADED s 66

Options:
Only 3 implies 1 and 2
1 % 3= 100050 2, DIDADN 3 ARG 1, 2 PIVRI0 SrE Q20 NTON
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1.2 and 3 are equivalent statements

L, 12,3 &0 Soegnd pawdie

In 1 and 2. B can be different from C

3 % 1 H08ain 2 DIABHAVS” B, C be‘;)écla»w ?am‘)m

None of the options are correct

p ow D BT VOIS 57

Question Number : 66 Question Id : 8135611186 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

x?

The value of f(1). given the equation J xf(t)dt =x>—x3 is
0

x?

J’ xf(t)dt =x°>—x3 eand. f(1) =

0
Options:

% 4
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Question Number : 67 Question Id : 8135611187 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f:N XN - N is defined by f((m,n_)) =2™1Y2n—-1) ,¥(m,n) €N x N. then f is

f:NXN-N ;f((m,u.)) =2"12n-1) ,Y(m,n) ENXN. Dﬁsrf)oimdé

200AD 0NN, f R0

Options:
One-one but not onto
(S0, 5°R DoFRBD S°E)

Onto but not one-one
RofRBD, 57N BI(SHD TG

Neither one-one nor onto

Both one-one and onto

(S B3 VoW
4. v

(SO STE BCID VoD ST

Question Number : 68 Question Id : 8135611188 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the increase in the side of square 1s 6 %. then the approximate percentage

mcrease i its area

28 WACRY FoRB0G D DAV 6 % oD, DFTVEHBNS' &LPOVEY

DOMOL TSI0

Options:
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36 %

1. ®

5> 12 %

x 3%

4 % 2%

Question Number : 69 Question Id : 8135611189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The incentre of triangle formed by thelinesx+y =1, x =1, y=11s

x+y=1x=1 y=103208 J6\&G 8502 ©od6Eomr) SLODHW.

Options:

(1-5-1-37]

1, % :

1 1
(1——;,“—;)
2. % Va2~ v2

Question Number : 70 Question Id : 8135611190 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The Cartesian equation of the line passing through the point (-1, 3, —2) and perpendicular to

. £ ¥ % 2 y-1 ¥,

the lines— = — = —and = - 1S
1 2 3 =3 2 5
X y Z x+2 y-1 z+1 .
T:?:;mﬁm 5 = 3 = : G208 Vool Gotdr, (—1,3,-2) Do)
thor e 32 58S ErdAw
Options:
x=rF gty a2

1% 2 7 4

TE. —7 —4
x+t1  y43  z42
3% 2 7 4
¥l y—3 =¥
4« 2 5 4 4

Question Number : 71 Question Id : 8135611191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the relation between mean and median of a discrete data?

95088 Bgro3dw & HE[AIAS HBOI e AEEAS &) VoroBAW

Options:
They are always equal
¢ % €93) DVIDED AT

2. ¥
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They are always not equal
€92) DYDYE DATJAD 5°Y

Sometimes they are equal

3 o 2D E) TG DATHIW 0PTOW

No relation exists between them

4 % T8 [ D0 Voo Eokdd

Question Number : 72 Question Id : 8135611192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

nd (7,

V3

: T) Then the angle

B 1
2’4" 4

o
o | =

The direction cosines of two lines are {

between the lines is equal to

3

~ |5

‘/_
4

“lﬂ

V3
=)

1 1
B0t WEWORL BS &R0 ST ( T ) 208080 (— )T ) PO, @

REV8L B0 Eta:30

Options:
1. % 30°

2, v 8
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Question Number : 73 Question Id : 8135611193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For which value of ‘k’. the roots of equation 2x% + 5x + k = 0 are rational?

‘k’ <:u13u>53J 9 Doy, 2% + 51 4k = 0 2EEHANIL 0 Arere) BEsHo "'fooa,asw?

Options:

Question Number : 74 Question Id : 8135611194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the area of thecircle (x + 1D)(x+2)+ (v —1)(y+3) =0

(x+1Dx+2)+(y—1)(y+3) =0 e e CRI

Options:
17m
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Question Number : 75 Question Id : 8135611195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

b3
If the roots of the equation x® —ax? + bx — ¢ = 0 are in G.P. then— =
a
b3
x* —ax? + bx — ¢ = 0 % Jrosven G.P. & &otl i
Options:
1, % 1
2, % —1
3. €
4.% €

Question Number : 76 Question Id : 8135611196 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Tangent at any point 6 on the curve x = 35secf,y = 35tanf 1s

DA 6 Dockod) 3¢5 x = 35sect, y = 35 tan f 35708 110,39 RSO

Options:

;% ysinf = x + 35cosf

, @ VSing = x— 35cost

ycosf = x —35sinf

3. %

~ycost = x +35sinf

4, %

Question Number : 77 Question Id : 8135611197 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bag contains 10 identical pens. of which 4 are red and 6 are blue. 3 pens are taken out at
random one after another. Find probability that all 3 are blue.

28 D00’ 10 6EATA0 4 DY, 6 Ao SV &) Q. AT 3 SOV

2SR ST 258 e§§, €3 3 00 Do EVANLY eﬂdb]g ‘Jau&?35é

Options:
6

% 10

2-3@ 10

3.+
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cn|w

Question Number : 78 Question Id : 8135611198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

/2 1

Tan~*x :
If [, = f — dx ,and [ = J— dx, thenl, : I, 1s
sin x X
0

/2 1
Tan~1x
I—f —-dx , S0bat Jz_J—dx,vwé Ii: I =

sinx X
0

Options:

y, . %5 B

Question Number : 79 Question Id : 8135611199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The harmonic conjugate of (2, 3,4) with respect to the points (3,-2,2) and (6,—17,—4) is

(3,-2,2) 2080w (6,17, ~4) Dochoeyw) Gy (2,3,4) Dothred) CAWS), )

o080t Dockod)

Options:
- (11,-16, 2)

AP EAMCET 2020

Question Number : 80 Question Id : 8135611200 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(1+x)e”
E—
cot (xe¥)

Options:

1 = log (cos (xe™)) +c

5> % log (cot (xe*)) + ¢

ol log (sec (xe*)) + ¢

4 % log (cosec (xe*)) + ¢
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Section Id :
Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required?:

Physics
81356123
2
Mandatory
40
40
40
Yes
Yes

Yes

Question Number : 81 Question Id : 8135611201 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An mfmutely long straight conductor is bent in to shape as shown m figure. It carries a current / A
and the radius of circular loop is r m. The magnetic induction at the centre of the circular loop 1s

o8 T 63) 83) TIred) HLANG' BrdD Do Sotred. A’ 3ol IS
[ 4. 5,556 Gikoy TG0 1 m. 000N $TTE &k Sodo I o) o 08 Dod?

Options:

T
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pol (m—1)
2mr

uol (m+1)
5> % 2mr

uol (2m—1)

3% 2mr

ol (2m+1)

4. % 2mr

AP EAMCET 2020

Question Number : 82 Question Id : 8135611202 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A speech signal of 3 kHz is used to modulate a carrier signal of frequency 1 MHz, using
amplitude modulation. The frequencies of the side bands will be

3 kHz 3":0;:;3@5:)» SO 28 VB 28 1 MHz @m;ax:san TS 00T
e SOt GHAIr AT, B0, T\ D80 I BdC.

Options:

1 » L0003 MHz & 0997 MHz

> % 3001 kHz & 2997 kHz

3

. 1.0MHz & 0997 MHz

4. %

« 1003 kHz & 1000 kHz
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Question Number : 83 Question Id : 8135611203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A pressure of 1 mm of mercury 1s equivalent to

$08°06" 1 mm FBCOB0L DAFHB0 ADY DEDBN Yo

Options:
1 % 1mPa

, % 13.33 Pa

3 133.3 Pa

4 = 1.08 Pa

Question Number : 84 Question Id : 8135611204 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bar magnet of length 10 em and having the pole strength equal to 107 W is kept in a
magnetic field having magnetic induction (B) equal to 4m X 107° T It makes an angle of
30° with the direction of magnetic induction. The value of the torque acting on the magnet 1s

47 X 1073 T 558 003,08 E308" 10 em T, 1072 W 66,3080 (0 28
90 0D &8 UL o 66 BIS 30° E'tso BT GotTdd. VAN, &8

50 080 es HABALO VOFFRSAN Do BUYAY.

Options:

-7
. 2r X 107" N.m
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, % 2 X107 N.m

3 % O5N.m

4

« 05X 10*°N.m

AP EAMCET 2020

Question Number : 85 Question Id : 8135611205 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of mass m s placed on the earth's surface. It 1s taken from the earth's surtace to a height
h = 3R .(R 1s radius of earth). The change in gravitational potential energy of the body 1s

B3T3 m (10 28 SR APSOAD D ST, AN BP JVAW Ao h = 3R AP BHED

V. Y DS fg@aages‘ Sy [ & 35:}2.3» =4 ]

Options:

(2) %
mg
1. % 3

AP EAMCET 2020
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Question Number : 86 Question Id : 8135611206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the apparent weight of a metallic block of density 5 g.cm™ and dimensions
5cm X 5cm X 5 cm. in water.

5cem X 5em X5 em D08 D8P0, 5 g.cm™ Jogd SR w8 S
B0} ABS” 20N ED) DY T By PEHW =

Options:

1;¢5><5X5><59f

, x4 X4X4X4gf

3“5x4x4x4gf

4‘J4><5><5><ng

Question Number : 87 Question Id : 8135611207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A particle 1s projected with velocity ZJg_h so that it just flies over two walls of equal height ‘h’

and ‘2h’ distance apart from each other. Find the time for which the particle flies between the walls,

2,/ gh 3308 HEDAD BAY w8 30, 28 0 h' 608 2h’ ErdANS’ o Boch) Ace
DA™ (90 AT, Es80) Tredod. Bas, &8 SR Got Fieke So6s{ Hatrrodiing He
STOA BVG..

Options:
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4h
.o N7
h
Z,. % g
4g
h

3, %
g
? h

;. =

Question Number : 88 Question Id : 8135611208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molecular motion ceases at

LY VDA €7 &g“ﬁé

Options:
, u 273K

> u 278°C

. % —273K
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Question Number : 89 Question Id : 8135611209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum velocity of a particle performing simple harmonic motion is 6.28 cm.s ™. If
the length of 1ts path 1s 8 cm. what is its period?

ROVErT8) S oo $DA 63) w Stao A (1B S0 6.28 cm.s ™!, D Tekd) 8 om

OIS BIGN SVo dodh?

Options:
% 28

2. v 4s

3, % 28

ls

Question Number : 90 Question Id : 8135611210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A piano wire with a diameter of 0.90 mm is replaced by another wire of diameter 0.93 mm of the
same material. If tension of wire 15 kept the same. then the percentage change in frequency of

fundamental tone 15

28 ‘f.)a“gm)ﬁ“ Sanecd 0.90 mm THHQD (o AT Bl 3y 0.93 mm g 0 Siied)
oD, 036 BB Rl oI, FrEads LB FHYANES’ Jotd ArHBA?

Options:

1 % + 3%

2, % 3%
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. +32%

4w —32%

Question Number : 91 Question Id : 8135611211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capacity of parallel plate condenser 1s 5 tF. When a glass plate is placed between the
plates of the condenser. its potential difference reduces to 1/8 of the original value. The

magnitude of relative dielectric constant of glass is

RETodE HUSL SN ANE) STy 5 |IF. 3 H6 dg), Hese S0d| w8 Tre
DV Gotd, TR TBIAHS &cto §9 DeeS” 1/8 S Sodd S, o, Mer awe),
o[t %U"uéa ag), DOATEI0 dod?

Options:

Question Number : 92 Question Id : 8135611212 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Lenz's law is consequence of the law of conservation of

Tod AFGD0 D DS A( OISV BLVDD?

Options:
Charge

e3P

Momentum

Q.‘.}sbﬁmo
2. %

Mass

B3T3

Energy

4 v 38

Question Number : 93 Question Id : 8135611213 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the area of cross section of a stretched wire 1s halved and tension 1s doubled. the speed
of propagation of transverse waves along 1t becomes k times the initial speed. Then k =

FABVR A 2063(E5 DTV WIS Bot) BB 3o BAJYD. a6 oo
D0irotd A6(8 Sdorian I¢ F'Y S¢S k 080 oA, ©aNd. k =

Options:
1

1%
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Question Number : 94 Question Id : 8135611214 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

During phase change. entropy

TR 376" Do’

Options:
remains constant

| DO Goch

Always increases
5 % QDD DEM

Always decreases
3 DV A

May increase or decrease

| DA T S
4. 0

Question Number : 95 Question Id : 8135611215 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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An infinite line charge produces a field of 9 x 10* N.C ™ at a distance of 2 cm. its linear
charge density 1s

28 308 BRAD D3 2 om Erdand’ 9 X 104 N.C™' S50 688 Bk008. oD
BDah D% FogBad T8 otod.

Options:

;o 01 uC. m~1

, % 02 pCoan™"

5 % 10 pC.m™

4 % 20 uC.m=?!

Question Number : 96 Question Id : 8135611216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A rod of length 1.0 m 1s rotated in a plane perpendicular to a uniform magnetic field of
induction 0.25 T with a frequency of 12 rev/s. The induced emf across the ends of the rod 1

LOm T &) 86 12 rev/s FRYRjed, 0.25T D56 o) 08 £ 20 63)
HOrS VoL FSDTPLD WAVOH. OVN sé AR RN DANTVS 800 Jod?

Options:
1 % 18.89V

2. % 3V
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4 0 TH2V

Question Number : 97 Question Id : 8135611217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 75% of a radioactive sample disintegrates in 16 days, the half-life of the radioactive

sample 13 days

16 Eerds’ adcﬁrwa}s JAPT 75% D000 Botd. &3 BCarErd) 8 ddura

T30 SOZD Haren.

Options:

Question Number : 98 Question Id : 8135611218 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the torque acting upon a system 1s zero. the parameter that remains constant 13

28 aﬁs“gg DB0L0 LTSS Ded BR300 LAY, 308 o FAS 073 f‘gﬂarr GotO?

Options:
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Force

1 % QAL

Linear momentum

5 8o Q-‘ﬁs:‘.ﬁu

Angular momentum

S E'edad B0

Linear impulse

, % ODOD HSBBB

Question Number : 99 Question Id : 8135611219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electric motor exerts a force of 50 N on a cable and pulls it through 60 m in 1 minute.
The power supplied by the motor is

28 DS Arerdd 50 N werdy ¢)e0d A 1 Adooddw Hairfodd 60 m erAdB. &
D80DE° ArErd) SRS &m%m Dodh?

Options:

, % 3000 W

3.8 AW

4 % 100 W
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Question Number : 100 Question Id : 8135611220 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Light is an electromagnetic wave. Its speed in vacuum s given by the expression

5°0d 28 Dméaom&boes SGord. wasams" o) s =

Options:

1 % Vv Ho€o

o
€o
2.5
€o
Ho
3. %
1

Question Number : 101 Question Id : 8135611221 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The two combinations of ‘NAND" gates shown in the figure are equivalent to

H0A0S° Brod NAND Gr(G00 To6) SVANSVE) RATILAN T I VDG,

Options:

(1)- OR gate. (2)- AND gate

i (1)- OR wsd:m, (2)- AND t:rsd.::m

(1)- AND gate. (2)- NOT gate

(1)- AND wsd.m), (2)- NOT crsd.:m
2, ™

(1)- NOT gate. (2)- AND gate

” (1)- NOT B, (2)- AND o 80
3.7

(1)- AND gate. (2)- OR gate

i (1)- AND (00, (2)- OR t:rsdnn

. J—

Question Number : 102 Question Id : 8135611222 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Cylindrical rod of copper of length 2 m and cross—sectional area 2 cm? is insulated at its
curved surface. The one end of rod 1s maintained in steam chamber and other 15
maintained in ice at 0 °C. The thermal conductivity of copper is 386 J.s™1.m™%.°C™%).
Find the temperature at a point which 1s at a distance of 120 ¢cm from the colder end.

2m Ty, 2 em? 0TS DTV (R ;w.i"s“ci o°f sé:: T S50 56 (oo
ST, 66 w8 D6 8DB AW DB D36 0°C 96 &) Lodod’ Gowrdd. Th
GQTIrES0 386 1571 m . °CT . R0 &) D96 odk 120 em drded” &)
Do) 3¢ &Tdd SR08) oc..

Options:
. x 80°C

, % 50°C
3 v 60°C

2 u TORC

Question Number : 103 Question Id : 8135611223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body whose momentum is constant must have constant

BOFDABRD DOJMT (L 28 S. Q60T S9H cotwod.

Options:
Acceleration
| S(Gea0
1. %
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Force
Al3PebS

Velocity
3 v Felg e bt

111ass

g;:)?so"%'
4, &

Question Number : 104 Question Id : 8135611224 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Young's modulus for perfectly rigid body material 1s

DOJPY GO oof IS

Options:
Zero

, wa?gm
1.8

Infinite

5> & 9N 0HD

3 x 1X10% N.m™

4 % 10X 101 N.m™2

Question Number : 105 Question Id : 8135611225 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Carnot’s engine has an efficiency of 25% when its sink 1s at 27°C. If it has to be increased to
40%. what should be the temperature of the sink keeping the temperature of the source constant?

27°C &0 96 FBrIaDA G) P\t ST 5 Avoddw BES 25%. L 40%
DotseRS egacm.':m eggam ?gdanrr &ot) %@vwz}l N egga &) Dotrd)?

Options:
% 320K

, % 375K
3 » 340K

, % 300K

Question Number : 106 Question Id : 8135611226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A boy travelling in an open car moving at constant velocity throws a ball vertically
up into air, The ball falls

i{gd Stod DOITRROD) 28 rd G SEHS" PO DOIPHERAR w8 LoD QYT
&3 DVBHY\ & od DEIBR.

Options:
Outside the car

2. %
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In the car ahead of the boy
5°G0e5°, €3 e G VoD

In the car beside the boy

2 570", & erC DG A

Exactly in his hand
4 v UG BSS

Question Number : 107 Question Id : 8135611227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an LCR circuit. the capacitance 1s changed from C to 4C. For the same resonant frequency.
the inductance should be changed from L to

LCR S00ho8" 330000y € &dod, 4C & SrTe\6). 08 06 ﬁm@mﬁaé 20880
L &6 8 Srdduod

Options:
1. % 2L

2.*“"2
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Question Number : 108 Question Id : 8135611228 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ray of light 1s incident normally on a plane mirror. The angle of reflection will be

28 VDBVEGE0R WS SToHBL VAV DSIANA. VAV DTG §t20 Dodd?

Options:

1.« 0°

2. % 90°

Will not be reflected
3 % DOHGDo Do

4. % 00

Question Number : 109 Question Id : 8135611229 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wavelength of maximum emitted energy (4,,) of a body at 700 K 1s 4.08 pm. If the

temperature of the body 15 raised to 1400 K. A, =

700 K 656 56 2.8 S0 Ave), G788 38 (030 ol 3603 0(Ay) = 408 ym.

6156 1400 K 8 0008y & &odt 200G 4, =

Options:

| % 1.02 um

5 % 16.32 ym
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4 816 um

4 2.04 um

Question Number : 110 Question Id : 8135611230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A mass M 1s supported by a mass less string wound around a uniform Lo s

2

cylinder of mass M and radius R. On releasing the mass from rest, it
will fall with acceleration

M @503, R Ué&gu o w8 ‘%F&Dé. M $50°3 Sudud.d 3303

633 S0 AEOSIT tIRe0B. AW &) (030 $oB3S

VA
HE0 B3, & 860 dod? "
Options:
. g

1.% F

£
2.% 2

2g
3.« 3

58
4.% 2

Question Number : 111 Question Id : 8135611231 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Orientation : Vertical

Bottom of a cylindrical vessel has a hole of area ‘A’. If water is filled up to a height *h’. it
flows out in ‘t" seconds. If water 1s filled to a height “4h’, it will flow out in time

w8 ;w:‘ﬁ"s“d FQ 0D P8 ‘A’ DTORW (L 28 Go@and) 8. & IS h’ IS
B DoDJDE, 8 A0 ‘1" DS’ WEHLL H3erotod. ‘4h’ ABOS" NBD VoYY,
A NE3" ROHOL HIFRE.

Options:
t

1.8

2. ® 4t

Question Number : 112 Question Id : 8135611232 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Figure shows the cross-sectional view of the hollow cylindrical conductor with inner radius ‘R’ and
outer radius ‘2R", carrying uniformly distributed current i along its axis. The magnetic induction at
point ‘P’ at a distance 3R /2 from the axis of the cylinder will be

308 DAY’ ‘2R’ e a}g&g.ﬁ» 28080 ‘R’ &§He 3”53"8‘5” (0 28 Y ;.wé"s"d ToePE A
ahos) uﬁ‘.}%‘é ga*u*sal drantod. TR ©go Do W V868 a'.)doﬁé i gabﬁf‘mélegw& &
050 A0od 3R/2 (rto8’ &) ‘P Dochid) 3¢ 208 o) 08 $8°0) B

Options:
Zero

% wa5an

Sl
> % 72mR

Tugl

Sgl
4.« 36mR

Question Number : 113 Question Id : 8135611233 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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According to the Hooke’s law the force required to change the length of a wire by *[ 1s
proportional to

08 oD DSTEAN B TEPS® Ardxy ‘I’ GottrIS IV VAN
e9: 065" AT 08" GotN.

Options:

1. ® 1=

-1
2.*6!

Question Number : 114 Question Id : 8135611234 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 20 kg flywheel in the form of a uniform circular disc. 1 m in diameter. 1s making 120 rpm.
What s its angular momentum?

120rpm & 1m To (o 28 2B TS0 DYYT Srdoy BodS 20 kg (BFLS o
aws), 7k gadro Jod?
Options:

. 314 kg.m?.s7*

, o HA kg.m?.s71

5 x 314 kg.m?*.s™!
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4 » 0314 kg.m*.s™ !

Question Number : 115 Question Id : 8135611235 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Energy levels A, B, C of a certain atom correspond to increasing values of energy that is, E; <
Ep < E.. If Ay, A, A, are the wavelengths of radiations corresponding to the transitions C

to B. B to A and C to A respectively, as shown in figure, Which of the following statements is

correct?

agg DEAEVPH) VotloBowd S g"mow A, B, C 0 6xr0d0d) dewden Ey < Ep <
E. 50808° 6960 C &vod B3, Bided A8, C ol A § 2608 w6do 0 dudds
28669000 BoAGT L0 SWRT A, Ay, A3 09008 §0& TrEOS" 9B 00D HIBHAW

A
3
A A3
Y . A
Options:
1-3'@ /13=/11+112
A1 A

da =73 1+f1
2-‘&*} 1 2

2 2 2
L =4 i

i

4. %
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Question Number : 116 Question Id : 8135611236 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Conditions of diffraction is

DIBT S DeoGT e

Options:

=y
S

Question Number : 117 Question Id : 8135611237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a charge of 20 C is taken from one point to another separated by a distance of 0.2 m.
work of 2T 15 required to be done. What 15 the potential difference between the two poimts?

20 C 5d7) 0.2 m &rdo’ &) w8 Doty Aol FE DothdYs) BLIFC.0B.
B8 21 © D VEIB. €0 &8 Botd DoddPHL LG THIOLES BcSo dod ?

Options:
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Question Number : 118 Question Id : 8135611238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The electric potential at a point on the axis of an electric dipole depends on the distance ‘r’ of
the point from the dipole as

38 'S gaw 6, 8 GG wod T Gros’ &8) Dok 3¢ oS TuJosd

200

Options:

o |
1.8 WE

Question Number : 119 Question Id : 8135611239 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 -
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Orientation : Vertical

The pertod of revolution of planet A around the sun 1s 8 times that of B. The distance of A from
sun 1 how many times greater than that of B from the sun?

FoJ'd}zS:} otr SAMAN) A 8 &(firo CIS) HOZE BIGNS o B ST°) 8 Bl I8 .
AP, A © 6 Ardo, APAE, B © &6 drdo Sofd ) B W) I Gotdold?
Options:

1.*"‘2

Question Number : 120 Question Id : 8135611240 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The efficiency of an ideal Camot engine working between temperatures Ty and T, 1s 1/3. If
the temperature of the sink 1s reduced by 40%. then its efficiency will be

T, 08080 T, G680 6§ HABD w8 866, 5°07) & aoditn G5 1/3. 98v3ako
&I 40% SfoRIY &8 5°T°) &5 Aodn TS, BLS BudeC.

Options:
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3 ¢ 60 %
4 % 79%

Chemistry
Section Id: 81356124
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611241 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A mixture of three compounds A. B. C 1s passed through a column of Al,0; by using
alcohol as eluant. The order in which they are eluted out of the column 1s C. B. A.
Which of the following statement 1s true?

A, B, C 20} ¥T70 3359) Al,0; o 28 Hito &0 830) ek ATwsorr T6.8
ffedo &0od. C, B, A I Q&0 oI, B\ $o8 DTV A dao?
Options:

‘C" 1s strongly adsorbed on the adsorbent
| % WOFTNRS0D ‘T’ VT AT NRMVIS
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*C" 1s weakly adsorbed on the adsorbent

g & BT NE0D ‘C’ L0LPHIT AT REI0NVDHE

‘A’ 1s weakly adsorbed on the solvent
, T3S A BT HOIT 98T REIVANIE

The order of elution does not depend on the extent of adsorption

5 JEOD S0 AT N VI BTEEHEM

Question Number : 122 Question Id : 8135611242 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tendency of catenation in group-14 elements follows the order:

Bro-14 ArO5° SRS 5‘55.)350 g0:550005° &otod

Options:

1%(?:-»:::51'}69::»5:1

5 JC >> Si > Ge ~ Sn

_Si>E 5% > EGe

4;%6@%511 - 0. (e B

Question Number : 123 Question Id : 8135611243 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s ncorrect?

1) NaCl being an 1onic compound is a good conductor of electricity in the solid state
2) In canonical structures there 1s no difference 1n the arrangement of atoms
3) Hybrid orbitals form stronger bonds than pure orbitals.
4) VSEPR Theory can explain the square planar geometry of XeF;.
Sofd DIBTVS A BRS(W?
1) e0irds :)D‘gim SPGa) VR 20 ﬂg@@.’i‘ NaCl Soow) D@SWS@S;&D
2) 8380 Aoy FTd” HOATR0YY 0ES" S eodchd
3) DOIFED BO\ErYy ST7) VoSE S0P WV0ND WoTFVA ‘.)csbmm.
4) VSEPR derodian XeF, aing) 0de $8060 Jo) ) D3bSBotiom

Options:

1o 1

12

Question Number : 124 Question Id : 8135611244 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the correct statement from the following:

1) Beryllium 1s not readily attacked by acids because of the presence of an oxide
film on the surface of the metal

2) BeO 1s an amphoteric oxide
3) Beryllium exhibits coordination number more than four

4) Beryllium oxide is purely acidic in nature

S08 PIBTVG’ B VAN PIWT) DodE Bodoc::

1) ©080hd eHdBLAN P B3 & JT6 A6y VD BIrVS B6[ Todc.
2) $368ah 3 & 8 AGOrS (82 008) 83 &
3) 8369aH Trer Sotd DS, DJRALOD Do)} 258 0cR0

1) $368ah 63\& QPO &) DRSS £9n &) 8

Options:

1

z,

A

2

4

Question Number : 125 Question Id : 8135611245 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s NOT correct?

1) froth floatation is used for removing gangue from sulphide ore
2) cresols are used to stabilize the froth
3) sodium cyanide can be used as depressant for preferential separation

4) amline can be used as froth enhancer

S0 DABVANS” DB PO 3°?
1) RGyE Grdo:) Aot Tofil Fohorin) D3 DD HF EHATHTE
2) 6B ?gés%éér:)é TS U EHAFAT D
3) EDOB0SR00N (FErd(S (o) Db Sasned Jdabo POHE TEsy
4) B0 061 DAL IO &HT Ao

Options:

’I.i‘El

2

Question Number : 126 Question Id : 8135611246 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not an essential amino acid?

$oBI°S" es5¥(S DS 20 528 B?

Options:
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Valine

Tyrosine

" S8
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Question Number : 127 Question Id : 8135611247 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which halogen can be oxidized by concentrated nitric acid?

T TS 0H08 638,580 TS 2D DB?

Options:
Fluorme

8

1. ¥ =

Chlorine
- 8§85

2. % '

Bromine

s % B3

4.9
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Todine
IV

Question Number : 128 Question Id : 8135611248 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The oxidation state and covalency of Al in [AICI(H,0)s]** respectively are

[AICI(H,0)5]** & Al es8y860 D 0Bk DB RA0H DoTTrRESBR) ST

Options:
1. ¢ +3 & 6

, x 1 &2

Question Number : 129 Question Id : 8135611249 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction N;04(4) = 2N 0y if dinitrogen tetroxide 1s 50% dissociated at 60 °C. the

standard free energy change at this temperature and 1 atm pressure is

N;04(g) = 2N0g) ©5658° 60 °C, 56 G2 BErg & 50% Do Bodd, 03 o
20008 1 atm 6o 36 DATEH N8 Arddy dod?

Options:
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_— —367.8 kl.mol™?

i —763.8 kl.mol™?

2 —867 kJ.mol™?

—249 kJ.mol™?1
4, %

Question Number : 130 Question Id : 8135611250 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Freundlich adsorption isotherm varies with temperature T
according to the figure given below. Choose the correct T
option accordingly
x/m L
Ty
Tonold BT HATRE S, 6THSS Dod Arddy

308 DAANG” BrIEID. TS DotoBow) S0l TS’

0 0038 ot ol p
Options:

.« 1 =303K, T, =298K, T; = 244K, T, = 195K
, « 1 =303K, T, =195K, T; = 244K, T, = 298K

I

s v 1 =195K, T, = 244K, T; = 298K, T, = 303 K

T,= 195K, T, = 303K, Ts = 244 K, T, = 298 K
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Question Number : 131 Question Id : 8135611251 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The 150 structural molecules among €0,, Si0,, S0,, Te0,, [NO,]" are

C0,, Si0,, SO,, Te0,, [NO,]7 &’ VAT 35700 (v LDV oads WodoC.
Options:

1 % COz, 502, TEO?_

, « €02, Si0;, [NO,]"

3 ¢ €0z, [NO,]"

4. ® 502 : TE’OZ

Question Number : 132 Question Id : 8135611252 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following are isoelectronic species?

0B Joe3e5° (aﬁ‘)'r‘baa-oogzﬁ P80 D) ?

Options:
, u 0° ; Py Na”; Myg®
> % O, F, Na, Mg
2- - - 2+
3'JO ¢ FruNa*™, Mo
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8=, 6, N, Mt

Question Number : 133 Question Id : 8135611253 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following solutions has the lowest freezing point?

208 TS’ D THTIS 0 S D DNBHD Fdo Gotwod?

Options:

1.« 1M Urea

> % 1M N32504

5 % 1M NaCl

4 » 1M Aly(S0,);

Question Number : 134 Question Id : 8135611254 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equivalent weight of Mn0O, for acid medium reactions.
(atomic weight of Mn = 55, atomic weight of 0 = 16)

€53 Q3rdSes” Mn0,” B00 &6 ? (eezroreny Mn =55, 0 = 16)

Options:
1. % 118.93
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5 @ 2378

5 % 64.00

4 % 54.93

Question Number : 135 Question Id : 8135611255 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For the reaction given below. which of the following is not a possible product?

NaCl
H,C = CH, + aq.Br, » Products

So68 75" WD WO[E EBYD) A 57IG IB?

Nacl
HEC =CH2-I-3$9.J.BI‘2 'e%?‘lw
Options:
CH, — Br
|
1 % CH, — Br
CH, — Br
|
5 % CH, — Cl
CH, — Br
|
3 % CH, — OH
4. &
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CH, — Cl

CHy~ €l

Question Number : 136 Question Id : 8135611256 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The highest temperature among the following 1s

& 0BT’ 3OS a3 dotEod

Options:
1. % 200°F

, % 278K
3 105 °C

4 » 05K

Question Number : 137 Question Id : 8135611257 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

DDT 1s

DDT 28

Options:
An anfibiotic

| Oiroecireds
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Biodegradable pollutant

2 & 23 b&aél SOV Y

Non-Biodegradable pollutant

i 23 Dr:)aa‘slan 5° ST

Nitrogen containing insecticide

4 x DEES SHAD S DoFBed

AP EAMCET 2020

Question Number : 138 Question Id : 8135611258 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product in the reaction given below

$0d :5556‘ E30) 00 Daed?

COOH

CH, — OH
I
CH, — OH

Polymerization

Dd285600

COOH

Options:
Rayon
| % BOIFD

Buna-S

msa"-s
2. %

3.¢

AP EAMCET 2020
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Glyptal
i

Neoprene

4 % VAT

Question Number : 139 Question Id : 8135611259 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following laws gives the relation between volume and temperature?

S08 T8 VADBATETIS HBAW eggas: (10 Dototr) 390 JovAw IB?

Options:
Boyle's law
PO DO

1. %

Charles’s law
7 @ T8 QOS0SAW

Gay Lussac’s law

s TTO5 e0R0y8 Dasiodw

Avogadro’s law

4 % LIDTTER QDO

Question Number : 140 Question Id : 8135611260 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The dipole-dipole mteraction energy between polar molecules in the solid state will be

proportional to [ if r denotes the distance between polar molecules]

;f.n.‘{)fgaé‘ BYTTOYY DE[RD) BB - B BoBEBT™ 38 =

908" AT BoS” Gotd. (GyTrenw 26[ Gro) 1" 1 erdotdol.)

Options:
1

16

1. %

1
2.0 17

1
2

Question Number : 141 Question Id : 8135611261 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the molecular geometry of H307 ?

H;0% e9gd wsﬂ:@ DA?

Options:
Trigonal pyramid

i 88 0 Aror(s-Co
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Square planar
RWAVGR VBV

Trigonal bipyramidal

S BRTT(s™Go
3, %

Trigonal planar
80 DIVBVO

4, 8 =

Question Number : 142 Question Id : 8135611262 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . -1 1
The number of electrons that can be present in subshells having m, value of = fornupto3

=3
1 =3 368, mg = — (0 EOFONVY” VTP Vo Jod?

Options:
1.% 18

3 v 14

¢ 12

Question Number : 143 Question Id : 8135611263 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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According to the figure given, which of the following statements is incorrect?

08 WBI0 STFEIVMT 06 TS’ VB 570 VIVT'Y) BLDC..

Options:
The 2 bridged hydrogen atoms and 2 boron atoms lie in one plane

| % 0ot T68 TEBS DOATEDY), otk 5T DOV 28 BOINS’ G,

Out of 6 B-H bonds two bonds can be described in terms of 3 center 2-electron bonds

5 . 380 B-H 2000’ ot eoiroa) 3 Sofs e 2 ;)vg"é L0G0T TN

Out of 6 B-H bonds four bonds can be described in terms of 3 center 2-electron bonds

% 88 B-H 2ores” Tren) Lomrod 3 Sogs e 2 aogg WOGTT™ BN

The Four terminal B-H bonds are 2 center 2 electron regular bonds

~JVe b voé§ B-H eomrew, 2 508570 2 JUSY T°06 0G0 DTN AD
4, % -

Question Number : 144 Question Id : 8135611264 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The formula for calculating ‘spin only’ magnetic moment is.

B308 T8 90DIT oBBIW Qo[ (iE3ocidsd 6 e (Rrdiw)
Options:
1 % n(n + 2)

Jnn —2
2‘:’_‘_@i\fn(irl )

i ﬁvf"n(n + 2)

4 % n(n — 2)

Question Number : 145 Question Id : 8135611265 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct option regarding the following
Assertion: Actinides exhibit a larger number of oxidation states than lanthanides

Reason: There 1s a large energy gap between 5f. 6d and 7s subshells.

SoQT°AS Voodor) VOAVN T e BVDC..

($y0806: CroBIEL ) BEIE BB BS\86mH DBV 688 10t50%)
a_ £yi— @
s*600: 51, 6d 08k 7s &:)g“m}v 06 3 BVoddo U A D

Options:
Assertion and reason are correct. and reason 1s the correct explanation for the assertion

(0868, 5°6EI0 POV SBAK S6E0 ByDEEHR) PO Disdodod
1. %
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Assertion and reason are correct, and reason 1s not the correct explanation for the assertion
6,860, S°6E0 VBALRD HBAKN S0 GVSEHRI VO DBotTED

Assertion 1s correct. reason 1s wrong
3 o c;;,bs-:.‘:ea ROADRG, S*C0 SY)y

Assertion 1s Wrong. reason 1s correct

4 % BDECE By, S°6E0 VOIS

Question Number : 146 Question Id : 8135611266 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction A —— products. if the graph of [A] v/s time gives a straight line, predict
the order of the reaction.

A—— adyT) | 0 BO[S [4] Ldakn s T AODIT 2,8 DOV B Dd)c’.;b&.
a0d. & B0[ AWE), BO™| S5 dwdot.?

Options:
Pseudo first order
- 3):;"5 DR SATr0S :‘.565

First order

| DO 83708 B0

Second order

BB a8 e
3. %
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Zero order
%u"a’)s SaT7°05 ::Sd?s

Question Number : 147 Question Id : 8135611267 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In order to mncrease the volume of a gas by 10 % at constant temperature the pressure of the
gas should be

20 656 3¢ w8 Tain) KB 10 % Dot T DEAKRY

Options:
Increased by 10 %

10 % 2ot5=®

1. %

Increased by 1%

5 % 1% potd

Decreased by 1 %

1% Shod
3.9 n

Decreased by 10 %

10 0
i 10 % éﬁoﬁ”g

Question Number : 148 Question Id : 8135611268 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following species has tetrahedral geometry?

208 TOS° D A t‘.’)e:ﬁoméabo‘b 2D Eotwobd?

Options:

" BH,

Question Number : 149 Question Id : 8135611269 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the preparation of a 1°-amine from an alkyl halide, with simultaneous addition of
one CH, group to the carbon cham. the reagent used as source of mtrogen 1s

SRS $y080008° 8 ), CHy &0 B6\8>, 80) 6 HFGE Aoc. 1°-e0 ) SOSrE)
BoRES’, DSBS APVADT EDEVPADIE SPESaW

Options:
Sodium amide. NaNH,
1 % sﬁdwﬂ a@&., Nﬂ.NHz

Sodium azide. NaN;

5 % VG0 BE, NaN;

3, v
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Potassium cyanide. KCN
J’eroie PODRE, KCN

Potassium phthalimide. C,H,(CO),N K™
4 % Jerdobo TdRE, C¢H,(CO),N K™

Question Number : 150 Question Id : 8135611270 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Weak acids are partially 1onized in aqueous solutions. The 1onization constants of some acids
are given below. Arrange these acids in mcreasing order of their acid strength

‘ Tonisation constant
Index Acid :
(Kz)
1 Formic acid (HCOOH) 18 x 107
2 Hypochlorous acid (HCI0) 3.0x 107"
3 Nitrous acid (HNO,) 45x% 107
4 Hydrocyanic acid (HCN) 49x10710

BT BATU 2OTT 808" AWM BAHSERD Do, §J) BAre BaHSHN

Togaw (Ky) B w3gndn. O e uer uBirn §2080 Bvded

oSS
o CRVY

aorogAn (K ,)

o
1 F6)8 w0 (HCOOH) 18 x 107
) TIE6R o (HCIO) 3.0% 1078
3 D 8o (HNO,) 45x 107
4 TEDODHAS B0 (HCN) 49 x 10710

Options:

AP EAMCET 2020
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3 8 2<3<1<4

L% 4<3<2<1

Question Number : 151 Question Id : 8135611271 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is a unitless physical quantity?

S0BITS” HDATRAD T TAS T°3 2O ?

Options:
Molality
. 2erde

Molarity
5 % D0ero

Mole fraction
3 @ QT°Q 2P

Normality

%8 W&@é

Question Number : 152 Question Id : 8135611272 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The correct order of acidic character of group-16 hydrides is

$0DIS” (1ro-16 TECOV B0 G6) B BTEAVT RBADA S8
Options:

1\3/.,H20 < st ‘::ste ‘:;HZ’TG'

> % Hzg > Hz.s ::’Hz.SE' - HzTE-’

3 % HzO < HzS :3’H259 ::-"'HzTE'

HzO s st < H25€ :}HzTE'

4, %

Question Number : 153 Question Id : 8135611273 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is true?

1) The two axial P — Cl bonds in PCl; are longer than the three equatorial bonds
2) The axial bonds i PCl; are stronger than equatorial bonds
3) The axial bonds m PCl. are more stable than equatorial bonds

4) All five bonds 1n PCl5 molecule are equivalent

308 PIVTVG” VBALIE AB?
1) Bot P — Cl eodash totren, Sured &8 BobeS otre Sot T
2) PCls &° 0305 wotren, &85 B0He womre Soff HORND
3) PCl5 0305 wogren, &S(E5°80De wotre Sofd RO
4) PCl; &° GR) DY LT VO VATIVH)

Options:

1w 1

(B

2..%

4. %

Question Number : 154 Question Id : 8135611274 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Steam distillation process cannot be used for purifying which of the following?

0BT’ 2o By DD 1-Toue oo B aug DT A0 ?
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Aniline

BRI

p-nitrophenol

Toluene

3 % 650D

Nitrobenzene
Eg._?f AL AN

Question Number : 155 Question Id : 8135611275 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct order comparing the acid strengths of HF, HCI, HBr and HI ?

HF, HC], HBr &08ai» HI &30 eere HESwmr DB DB 900 200 ?

Options:

| HF >> HCl >> HBr >> HI

5> HF << HCl << HBr << HI

3 % HF > HCl »>> HBr >> HI

4 % HF << HCl =»> HBr >> HI

Question Number : 156 Question Id : 8135611276 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The largest element among O, Se, S, Te 1s

0,5e,5,Te 08" @8 DG Jorewss 96 ?
Options:
1.% 5

a.v Te

Question Number : 157 Question Id : 8135611277 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the amount of NO, required for producing 4g moles of HNO; as per the chemical
reaction 3NO, + H,0 = 2HNO; + NO. Given, The gram molecular weights of di-nitrogen

and di-oxygen gases are 28 g and 32 g respectively,

3NO, + H,0 — 2HNO; + NO 6o 56 &T-GorT 4 T e HNO;
SOSrERL 5380 N0, er6ed? Ggrodo: ZRE'ES LB ZUS\ES © T

€96 G000 AT 28 g <0bodw 32 g.

Options:
1 ¢ 276 g

5> % 274 g
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Question Number : 158 Question Id : 8135611278 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Both ethanal and propanone will react with which of the following?

GBS 00050 THIS Botkr §087IS" D DEGANS 36] TodHiv)?

Options:
Tollens reagent

o 95*9353 SGSA0

Schiff reagent

D). SCEEAD
> % )

Fehling reagent

3 % 2Ooh sSPEEAD

Grignard reagent

. ﬁrr:lg SPESA0

Question Number : 159 Question Id : 8135611279 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Lemon and orange juices contain and acids respectively.
:) 0Bk TBoz B0 ST Sodakw e3r0R SOA Gotodd
Options:

Tartaric. Oxalic

 ¢0°BS, e.ss‘hﬁ)é
1.8 ©

Citric. Citric
> S, DS

Oxalic. Ascorbic

3 X BS‘D%, Dé‘bﬁag

Ascorbic. Oxalic

2 % a&baaé, es'_-?bbé

Question Number : 160 Question Id : 8135611280 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the energy associated with the second orbit of Li™ and find it’s radius?

Li* Boctsd 855 clng), 38 AirdotSol. S0B030 & S5 aviga»gm Dodh?

Options:

. % 4905 X 1072 7. 0.0705 nm

3.

. 4.905x107%°7, 0.0705A

. 4905 x 1077 7. 0.0705 A
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4905 x 10718 1. 0.0705 nm
4.
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